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Albert Einstein theory of relativity is the global mistake of the 20th century
Having been paid too much attention to by professors of many countries and mentioned in many dissertations A. Einstein theory of relativity turned out to be an insuperable hindrance of creating the unified field theory. The numerous attempts of creating the unified field theory based on it were not successful at all. A. Einstein general theory of relativity, theory of gravitation is an obvious example that the author is not satisfied with his theory.
Describing A. Einstein theory of relativity Berkleev course of physics writes: “The result of Michelson-Morley experiment is that it’s impossible to detect the relative motion of the Earth and the Ether. To understand this result we need to look at it from an utterly new angle, which can be put in the following simple and clear way:

	The light speed doesn’t depend on the movement of its source or receiver


In fact Michelson-Morley experiment is not about the relative motion of the Earth and the Ether. It’s about the movement of the Earth around the Sun on the orbit by means of its interaction with the Ether. The result of such interaction is the length reduction of the interferometer arm in the direction of the Earth movement. The experiment states that the Ether is necessary not only for the wave motion of the electromagnetic waves but for any other body translational motion in space. The experiment states that Newton’s first law doesn’t exist in nature. The body can’t move in the space on its own, it moves only as the result of interaction with the Ether. 
The numerous experiments to detect the Ether performed at the end of the 19th century have all yielded negative results. The experiments were based on Newton’s first law. The experiments showed that the Ether doesn’t resist to the moving body and doesn’t drag the moving body. These results are natural if you take into consideration the fact that the movement of the body is the result of interaction with the Ether. At the same time the body is considered to be a set of elementary particles. Each elementary particle of the body interacts with the Ether. The movement of the body represents the total movement of the elementary particles of the body. 
The relative motion of the Earth and the Ether should be shown on the following experiment:

In 1933 the Italian physicist Berttolli made the electrically neutral spinning top rotate with such a speed that a magnetic field started to appear around the spinning top. By the way this experiment can be performed in a close isolated laboratory. The results of this experiment are as follows:
· if the laboratory is in the state of absolute rest then a kinematic axis of the spinning top rotation corresponds with its magnetic field axis;

· if the laboratory has a constant motion (any translational motion) then the spinning top magnetic axis will be shifted relative to the kinematic axis of the spinning top rotation.
The illustrative example of this fact is our planet Earth. The earth has a magnetic field as it rotates on its axis. The magnetic axis of the Earth doesn’t coincide with its kinematic axis, as the Earth moves around the Sun on the orbit.

Let’s continue our discourse about the Ether. We magnetize permanent magnet with a magnetizing device and get permanent magnet with a magnetic field.

We know for sure that the source of the magnetic field is the electron orbital motion around the atomic nucleus. While magnetizing the magnetizing device puts the electron orbit planes of all the magnet atoms in some parallel position. This gives the resulting magnetic field of the permanent magnet. As the electrons had the orbital motion before magnetizing, the magnetic field existed in the atom before magnetizing too, but it was chaotically oriented, “disarranged”. With magnetizing we “arranged” this magnetic field, collated its chaotic orientation.
There is a common characteristic between the “disarranged” and “arranged” magnetic field. Their common characteristic is the characteristic of the Ether. 

We also know that the electron motion around the nucleus results in atomic electric field. Since the electron orbital motion is the source of the electric field and the magnetic field, these fields are associated with a common characteristic. The common characteristic of the electric field and the magnetic field is the characteristic of the Ether. An electron as an elementary particle doesn’t contain any special characteristics which make it different from the other particles. The electric charge of the particle is connected with its orbital motion.

Thus the nature of the electric charges can be expressed by formula:

e = V × D – const, where

e is the electric charge of the particle (electron)

V is the particle velocity on the orbit

D is the orbit diameter
const is the electric charge conservation law.
The bigger the electron energy, the higher its velocity on the orbit and the smaller the electron orbit diameter D and the higher electromagnetic wave frequency, radiated by this electron. Leaving the atom the electron doesn’t lose its orbital characteristics as it always exists in the Ether and interacts with it and therefore has an electric charge.
The atomic nucleus accumulates orbit centers and as a result the electron orbits make a sphere, an electron shell, around the nucleus. The electron leaves the atom in a different (perhaps in any) energy state as there is no space for it in the atomic electron shell.
Here is the relevant extract from Chapter 23, drawing 23.3 and a comment for it pt. 4 in the course of physics “Charged particle motion in the electric and magnetic fields” by Detlaf A.A. and Yavorskiy B.M. published by “higher school”, Moscow, 2002.
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                                                                Drawing 23.3

“4. If a charged particle is moving in a non-homogeneous magnetic field, which induction increases in the direction of the particle movement then r and h values decrease as long as the particle is moving. Therefore the particle is moving along the twisting spiral which wines on the magnetic flux line of the field. The charged particle magnetic focusing is based on this principle (for example, in electron optics)”.
Experimentally it’s possible to measure only the electron axial velocity V. In cyclotron the electron velocity V reaches the light speed C and can be:
C – V ≈ 3×10
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 cm/s.

In the space radiation composition there are probably protons with the difference: C – V ≈ 10
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 cm/s.

Electron path length along the orbit can be 10 – 100 times higher than the axial velocity V, i.e. it can be ten, hundred times higher than the light speed.
And since there is a relation:

V
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× D
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, where

V
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is the proton velocity on the orbit
D
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is the proton orbit diameter
The proton velocity on the orbit is much higher than the light speed.

These experimental data don’t correspond to Einstein postulate that the light speed is the maximum possible speed. One can get the electron and proton orbital velocity as a result of interaction with the Ether. 

Let’s describe the Ether characteristics. For this let’s refer to the mathematical philosophy. In any manual of the mathematical philosophy there is a concept of the philosophic category of  “matter”. 
The object can be considered material, if it possesses a number of characteristics like:

· the object must possess at least one characteristic, property;

· this characteristic must appear, i.e. it must interact;
· there must be a result of such interaction, which can prove the presence of the first two characteristics and therefore it can prove that the object is material.

Every point of the world or space where we live and which we feel is characterized by some vector quantity P. Irrespective of the fact that this point belongs or doesn’t belong to some physical field or elementary particle, P shows that this point is material. The set of such (material) points produce either the Ether (the physical field) or an elementary particle.
The mechanism of the point interaction (the proof of its being material) is expressed by the formula:

F = K×
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     [1], where
F is the interaction force between two points of the Ether
dr is the distance between the points

dP is the the change of the vector characterization on dr distance

K is the conversion factor

The mechanism or interaction of two material points
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                                                                 Scheme 1

We can pass a plane through any point of the Ether “O” and on this plane we can draw a vector field diagram (drawings “a” and “b”). The field characteristic P in the space (in the plane under consideration) can change according to any law. But there is always a vector characterization gradient, i.e. dP ≠ 0. Through the given point “O” you can pass the infinite number of planes, in which the diagrams will always have a vector characterization gradient. But there can be a plane with a point where there is no gradient, i.e. dP = 0. Such point is called “the point of discontinuity”, the force in it is F = 0.
This point is characterized by the fact that it produces two elementary particles: a particle and an antiparticle. Scheme 3 shows how these two particles are produced.

The vector field scheme in the arbitrary space plane
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	Scheme 2


	[image: image13.jpg]Yy

dP

Il





	Scheme 3



“The point of discontinuity” provides the vector field transition to an elementary particle.

“The point of discontinuity” is also characterized by the fact that there is no gravitation curvature of space in this point or in this point the system reached 100% entropy. 
Since “the point of discontinuity” appeared in a specified plane and the particle is produced in this plane, thus the particle is produced flat, i.e. two-dimensional (scheme 4, a, b, c).

What is an elementary particle characterized by?

1. The particle is produced two-dimensional, flat.

2. The particle has the size D. 

3. The particle has a symmetric vector diagram, which resembles the scheme of the rotational motion.

4. The elementary particle rotation is called spin in physics.

5. The diagram can resemble the rotation of the perfectly rigid body (scheme 4 “a”).
6. The gradient of the particle point vector can change according to any law (scheme 4 “b”), which leads to the variety of elementary particles.

7.  The initiation of “the points of discontinuity” in the vector diagram of the particle leads to its death.

8. The particle doesn’t have a translational motion.

9. The interaction force F between the particle points is distributed instantly (scheme 4 “b”). The particle is perfectly rigid. Otherwise the particle would have collapsed, which is not true in the objective reality.
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	Scheme 4


The speed of the force distribution can be used as the means of the signal propagation, that doesn’t correspond to Einstein postulate that there is no speed higher than the light speed.

The Unified Principle of Interaction (UPI) expressed by formula [1] on the macro universe level says:

If there is or there will be a relative tangential velocity of travel between the bodies, then there is or there will be a mutual attraction force between these bodies.

All existing natural forces subject to this principle are the individual examples of this UPI.
The field, the Ether vector P itself is a velocity vector. 

Besides the above mentioned primary characteristics the elementary particle acquires its characteristics as a result of its interaction with the vector field, the Ether; thus we get the elementary particle secondary characteristics (scheme 5):

1. Translational motion

2. Three-dimensionality

3. Quantum-wave characteristics

4. Electric charge

5. Additional sizes or real sizes

6. Mass
7. Virtual characteristics
The scheme of the elementary particle interaction with the external vector field
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Scheme 5
Respected reader, having read the previous works “The gravity polarized substance” and “The model of the Solar system formation” by Skamin M.S. and Skamin A.M. in www.cosmopole.ru you got acquainted with the evidential basis of the presented work. Now it’s necessary to discuss the virtual characteristics of the elementary particles.
In the USA the Power Engineering Department runs Jefferson Laboratory which studies proton and neutron structure. The results of the research show that according to the quark angular momentum a proton can have a shape of “either a sphere, or a torus, or a pretzel (peanut)”.
Imagine that you’re sitting in front of your TV. Your TV shows You a beautiful painting “The morning in the pine forest” by Shishkin which everybody knows as “Three bears” from the Russian sweet wrappers. You’ve got this painting by chance, not the original, of course but a replica on a canvas by an unknown artist. The replica on the canvas is a real painting. And the painting you see on TV is a virtual painting. In fact there is no such painting on TV screen, there are only three points on the screen: red, yellow and blue which glow every instant and which “run around” the screen and “draw” this picture, or to be more exact light different points on the screen in series for an instant.
In the same way the proton produced in “the point of discontinuity” of the Ether with the size 1,1×10
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cm and interacting with the Ether acquires the orbital motion with the orbit size (1,2 … 1,36)×10
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cm. Proton orbits controlled by the Ether cluster together forming either a “sphere” or a “torus” or a “pretzel of a peanut shape”. Therefore the proton is virtual as it is drawn by the orbits produced in series due to the existence of the Ether. In this connection we can speak about proton quarks, about the electric charge distribution on the proton volume, about the real sizes the proton takes in the space.
The general scheme of the elementary particle position was presented above. Excluding the particles which are parts of the atom from the general number of the elementary particles, we get the elementary particle cohort which can be considered as “splashes” of the Ether.
The lifetime of such particles is 10
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s. They can be of the infinite number. Every new collider can give a new portion of elementary particles. To describe the characteristics of the new particles you can be short of “color” or “emotions”. 
What is the Ether?

To dot the i’s and to cross the t’s let’s perform a mental experiment, let’s trace the entropy growth in the Universe. This experiment is not new, it’s already been performed. The results are not comforting; “the cold death” expects the Universe. Having conquered the fear let’s perform it again specifying the entropy growth in the Solar System.  
The Sun having radiated a lot of energy throughout many thousands of years will lose its mass thereat. Having lost the mass the Sun will lose the planet system and will become an average member of this system. The Solar system will become a dust gaseous nebula. Armenian Observatory declared in the 5th International Conference about Gravitation, at Moscow State University, Moscow, 1980: “There are no observations that dust gaseous nebula will become a new Universe formation under the gravitation force. However there are observations that the substance is leaving the dust gaseous nebula”.

Such fate expects the neighboring star of the Solar system as well. The matter experiencing the entropy growth is losing one characteristic after another. 

At the atomic decay stage the Universe gets the cosmic microwave background. The further entropy growth leads us to the well-known “red shift” of the electromagnetic waves. As the electromagnetic wave “ageing” takes place in every wave, there will be more short waves than long waves in a specified distance, and so “the red shift” appears. Many people don’t like the word “ageing”. Fine. Let’s substitute it for the word combination “entropy growth”.

The further entropy growth in the system leads to the electromagnetic wave length growth, and their further disappearing. The electromagnetic wave disappearing leads to the matter which has lost its movement and time characteristics.  
We’ve got pure Ether.

The Ether is a vector physical field.

The Ether is a set of material points. Every material point of the Ether is a vector which has both the quantitative and the qualitative sides of “the matter”. The Ether has the principle:
F = K
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The above mentioned principle is the mathematical expression of the philosophic category of “matter”.

1. The vector character of the Ether allows solving all the questions connected with “the spatial parity breakdown”.

2. The Ether has perfect rigidity, the force F is distributed instantly. This is the necessary condition of the objective reality. Neither the Universe nor the particle in this connection can collapse.
3. The Ether is stationary.

4. In the Ether dP ≠ 0, in the Ether there is always the gradient of the vector function, in the Ether the entropy hasn’t reached 100% yet.

When the system entropy reaches a certain level the matter loses the movement and time characteristics. But the matter exists in the space. The space doesn’t disappear. In this respect there isn’t any connection between the space and the time. That’s why the space-time continuum which is widely used in the theory of gravitation is not more than the heading of this article suggests.
In the Ether there can be a part of the Universe where the entropy is close to 100%. In such part there can often appear numerous “points of discontinuity”, points where dP = 0.
The mass formation of “the point of discontinuity” in the Universe part leads to the birth of two particles: a particle and an antiparticle, which can become a source of the star or galaxy birth.
Therefore the entropy maximum growth and the formation of “the points of discontinuity” thereby doesn’t lead to the Universe “cold death”, but leads to the birth of the new stars and galaxies.

Thus the entropy growth in the Universe doesn’t lead to its Act of death. The Universe didn’t have the Act of birth either. The Universe could not “have been born” as a result of the Big bang, because the bang, even the Big one, is only possible in the Universe already existing, as the translational motion is possible only in the Ether. The expanding model of the Universe is also impossible, because the expanding Universe represents a slow bang.

We have to admit that the Universe exists eternally, it couldn’t have had the Act of birth and cannot have the Act of death. There is a circulation of “matter” in the Universe. 
About the unified field theory

By the unified field theory the author means the following.

The unified field theory is a long continuous chain of the cause-and-effect relation in the mechanism of the Nature.
The Unified Principle of Interaction (UPI) expressed by the formula:

F = K×
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doesn’t give complete cause-and-effect relations. The question how the electron or any other elementary particle acquire or give energy still remains open. 

Since the elementary particle is flat two-dimensional it can be considered as a loop. The loop is in the Ether, in the vector field. In this connection we can assume that the change of the vector flux through the loop results in the flux change in the loop itself. Consequently we fully use Maxwell theory.

Being in “a generator” the elementary particle acquires the energy, and being “an engine” it gives the energy.
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Quantum mechanics

Studying the thermal radiation Max Planck introduced the concept of the energy quantum. The particle radiates the energy and absorbs it not continuously but by portions, by quanta. Nothing has changed in the understanding of this subject since that time. However the word quantum is widely used nowadays by physicists, economists and even politicians.

The sources of the quantum mechanics are:

1. The Ether as a physical field has some vector characteristic.

2. The elementary particle the vector field interacts with is two-dimensional, flat.

Their interaction gives us the quantum mechanics.

The two-dimensional particle can be oriented in different ways in relation to the vector field: if the plane is complanate to the field vector then the particle interacts according to UPI (F = K×
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), (the particle is moving, the particle has gravitational mass); if the particle plane is perpendicular to the field vector then the particle interacts according to Maxwell theory (the particle acquires or gives an energy quantum, it is in the state of the translational rest, the particle has inertial mass, which is infinite large, as its translational speed equals 0).

The body is a set of elementary particles which are chaotically oriented. The body is moving, in the body there are some elementary particles which are moving and there are some elementary particles which are in the state of absolute rest. In this connection the elementary particle motion in the body is quantum and the body itself can have either a uniform and straight-line motion or an accelerated and curvilinear motion.
The natural forces
Al natural forces are subject to the Unified Principle of Interaction (UPI):
F = K×
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On the fundamental level the UPI represents the mathematical expression of the well-known philosophic category of “matter”. On the macro universe level this principle is as follows: “If there is or there will be a relative tangential velocity of travel between the bodies, then there is or there will be a mutual attraction force between these bodies”. 

We’d like to remind the respected reader that all existing natural forces: mechanic, electric, magnetic, atomic, nuclear, gravity are just the individual examples of this UPI principle.

1. The mechanic forces are the result of the body interaction with the external vector field. If there is no vector field none of the mechanisms will work.

2. The electric forces are connected with the elementary particle interaction with the vector field. As a result of this interaction the elementary particle acquires the orbit motion. In this connection there is the correlation:
e = V×D - const

The proton in the atomic nuclear also has an orbit motion. The famous Coulomb’s equation of the electric charge interaction:

 F = K × 
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 should look as follows:
F = K × 
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, where
r – elementary particle orbit radius:
for the electron r
[image: image25.wmf]el

 about 1×10
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cm,
for the proton r
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 about 1×10
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3. The magnetic forces appear when there is a magnetic field, created during the matter rotation. When the Earth rotates there is the magnetic field of the Earth. The Moon doesn’t rotate that’s why there is no magnetic field of the Moon.
4. The atomic forces are the forces between the atoms of the substance responsible for the solid strength. The atomic forces appear from the correlation:

F = K × 
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 which turn into the interaction of the electrons of the neighboring atoms, scheme 6, drawing 1.
During Phase 1 the impulsive force F
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 between the electrons appear, which equals:

F
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 = K × 
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The schemes of the interaction of two neighboring substance atoms and two neighboring protons in the atomic nucleus.

1, 2, 3, 4 are the phases of the electron position on the orbit

a = R – 2r
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	Scheme 6


According to the UPI the interaction force F
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 between the electrons will be: F
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Analyzing the relation (R
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) one can make a conclusion that when R  is close to r then the denominator decreases sharply which results in the abrupt increase of the interaction force. These are the atomic forces. The atomic forces are the forces of the close action. The atomic forces are the impulse forces which causes the variable value of R size, i.e. the atom thermal motion in the solid. If the thermal motion increases R size to the value when r size doesn’t effect the relation (R
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) because it’s very small then the solid becomes a liquid. The impulse action of the atomic forces results in the crystal structure of the solid.
5. The nuclear forces are the forces responsible for the nucleus strength. The nuclear forces are physically the same as the atomic forces but instead of the electron shell interaction in the atom these are the protons which interact in the nucleus, scheme 6, drawing 2.
The proton orbit size is about 1,2 … 1,36×10
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cm. The nuclear forces are also close action forces. The impulse character of the interaction results in the crystal structure of the atomic nuclear.
6. The gravity forces, the forces of universal gravitation. The gravity interaction is also an individual example of the UPI. The source of the gravity interaction is the elementary particle rotation, the spin. In this connection Newton’s law of universal gravitation for the elementary particle should look like:
F = 
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 where r is the elementary particle radius.

For the elementary particle to have the gravity interaction, the particle must have mass, size and spin. The mass carrier is the elementary particle which has the size 2r. The particle as stated above has an absolute rigidity. It can’t be compressed. This is a condition of existence. R
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 size can’t be smaller r
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. Besides the particle represents a process, the process which takes place when the two-dimensional elementary particle interacts with the vector field; the process which takes place in time and space. Therefore the particle in fact takes the space bigger than its 2r size. Heisenberg uncertainty principle doesn’t disappear because of the gravity forces:
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Newton’s formula of gravity interaction between the elementary particles has no sense, as this formula is for a three-dimensional particle, a “small ball”. The mass must have the volume. But in reality the elementary particle is two-dimensional, flat; and the gravity takes place only in the plane. We should create a new concept of mass in our mind.

The instant means of connection
One of the misstatements of A. Einstein theory of relativity is the statement that the light speed is the limit velocity for the signal propagation. As it is known the light represents electromagnetic waves. The medium is necessary for the wave motion. The speed of the wave propagation in the medium is the main characteristic of the wave motion. In this connection there is no need for A. Einstein statement that the light speed doesn’t depend on the velocity of the light source or the light receiver. The Ether eliminates this statement. But as described above the Ether is necessary not only for the wave motion but also for the translational motion.
Let’s look at scheme 6, drawing 1 again. This is the interaction of two electrons of two neighboring atoms. During Phase 1 their UPI interaction is maximal and is expressed by the formula:
F
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[image: image50.wmf]a

V

2


During Phases 3 and 4 there is no relative tangential velocity between the electrons, and therefore the interaction force F
[image: image51.wmf]e

 is 0.

Impulse interaction between two electrons allows us to consider it to be a signal. The signal is propagated instantly. Nothing prevents us from increasing the distance “a” between the electrons and making it as big as we like. But 2V value can be quite big too as shown above. The instant signal propagation remains, the signal becomes weaker in proportion to the distance value.
	Consequently, the instant signal propagation is physically possible.


                                                                                            The author: Skamin M.S. 

The unified field theory





F = K×� EMBED Equation.3  ��� + Maxwell theory
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